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ix) No continuation sheets shall be provided to any
candidate under any circumstances.

x)  Candidates shall put a cross(X) on blank pages of
answer script.

xi)  No blank page be left in between answer to various
questions.

xii) No programmable calculator is allowed.

xiii) No stencil(With different markings) is allowed.

SECTION - A
1 Answer any THREE of the following questions in about 200
words each. (3x2=60)
) Examine the disinvestment policy of India.

i)  Whatare the reasons for inequalities in the distribution of
income and wealth in India. What steps are Smommme to
reduce economic inequalities?

i)  Examine the short comings of public sector in India ? What
steps are necessary to improve their efficiency ? Critically
assess the steps taken by the government in recent years

iv)  Explain the nature and functioning of public Distribution
System in India Examine its impact on poverty of India.

2.  Whatare the problems faced by small scale industries ? Explain
the measures taken to solve the problems of small scale industries.
How far are they successful? . (60)

3.  Examine “Food Security” in India. Do you think thatIndia has
achieved food sufficiency? (60)
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4.  Explain the factors responsible for Green Revolution in India.

Describe its impact on agricultural production. (60)
SECTION -

S. _~Answer any THREE of the following questions in about

200 words. Each. (3x2=60)

v B

)] Critically examine the role of Multi-National
Corporationsion India’s Economy?

i)  Mayor failures of Indian Planning

i) Do you think agricultural mechanization in India is
beneficial? Substantiate your arguments.

iv)  Elucidate the causes and consequences of poverty in India.

6.  Explain the sources of agricultural credit in India? What are their
defects? Give a Critical estimate. (60)

7.  Explain the basic features and changes in the structure of Indian
economy after Independence. Is India a developing economy?
Discuss. ‘ (60)

8.  Answer the following a:mmmosm. a: Fiscal consolidation in India,
b. covertibilty of Rupee in India, c. Foreign Direct Investment.
(60)
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